
  

 

Get your ielts writing corrected 

See other ielts writing samples  

 

Technology allows food to be produced in greater quantities and at the lower prices. Some 

people believe this is a positive development, while others feel that the change is harmful. 

Discuss both views and give your own opinion. 

 

 

Nowadays the food industry offers a larger amount of nutriment than in the past decades. Not 

only the offer  first of the is more spread  widespread but also so the price have has been 

decreasing more and more. In this essay I will discuss on one side about the positive aspects 

of this change state and on the other side I will focus on the negative points of this 

development before expressing my opinion. 

 

To begin with, we can observe that thanks to the food industry, which has been investing 

money to search for solutions to optimize the yield of the foodstuff, the population have a 

better access to the food market. In some countries, where the nutriments were extremely 

basic, today people can cook with a larger number of nutriments than in the last decades. 

Indeed, this means an a healthier diet with more diversity and during all of the year. 

Moreover, if a part of the population has allergies, she they will have access to a large panel  

range of products to replace the problematic one. [This focuses on a wider variety of food 

that's not exactly suggested on the topic it's talking more about quantities of food rather than 

varieties. In addition you haven't addressed price which is mentioned in the topic. 

 

WhereasHowever, this huge improvement present some negative aspects. Firstly, the food 

development causes impacts on the environmental buildingenvironment. Forests, which are 

vital for the balance of nature balance have been destroyed to grow up some corn. For 

instance, in Brazil they cut down a lot of the forest to obtain some palm oil. Besides, in some 

cases, pesticides are used to gain more productivity without measuring the consequence on 

the one hand of the human view  humans and on the  other hand of the biodiversity of the 

planet. For example, some pesticides can produce heavy damage on the health of the farmer 

[better here to talk about the negative influence on people who eat the food] and cause 

cancers, as survey have proved. Also, they produce undue collateral effects on plants in the 

neighbourhood. 

 

To sum up, they influence of technology is not black or white. After weighing the cons and 

pros of this evolution  situation I have to admit  believe that large progress have  has been 

achieved for the food access and the price. However we need rules and laws to ensure a 

sustainable development to prevent environmental damages and global health problem due to 

the pesticides and the food market.  

 
 Estimated  

Grade 
  

Task 
response 

6 You covered the disadvantages and your own opinion well 

 

Advantages of the change 

you haven't addressed price which is mentioned in the topic. 
Cohesion 6 Excellent overall structure 

Formatted: Highlight

Formatted: Highlight

Comment [z1]: Or “prices have” 

Comment [z2]: this is just messy and 

unnecessary 

Comment [z3]: you are repeating this word 

too often.. Snd especially in places like here at 

work de the better to say something like 

“ingredients” 

Comment [z4]: this word is more suited to 

starting a sentence 

Comment [z5]: just CORN? This is too 

specific you should say “crops like corn” 

Comment [z6]: they didn't cover all down 

Comment [z7]: this doesn't fit grammatically 

Comment [z8]: this could fit grammatically 

but it's not really needed. Just use these phrases 

to start paragraphs or maybe sentences but not 

inside a sentence. 

Comment [z9]: Progress has= singular noun 

+ has 
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and 
coherence 

 

There is a lot of unnecessary phrases which detract from the readability of your essay 

In this essay I will discuss on one side about the positive aspects of this change state 

and on the other side I will focus on the negative points of this development before 

expressing my opinion. 

 

Besides, in some cases, pesticides are used to gain more productivity without 

measuring the consequence on the one hand of the human view  humans and on the  

other hand of the biodiversity of the planet. 

 

WhereasHowever, this huge improvement present 
Vocabulary 5-6 Errors with word choice: 

Not only the offer  first of the is more spread  widespread but also so the price have has 

been decreasing more and more. 

access to a large panel  range of products to replace the problematic one. 

consequence on the human view  humans 

After weighing the cons and pros of this evolution  situation I have to admit  believe 

that 

Errors with word endings: 

with a larger number of nutriments  
Grammar 5-6  

Errors with sentence structure 

but also so the price have has been decreasing more and more. 

Indeed, this means an a healthier diet with more diversity and during all of the year. 

Moreover, if a part of the population has allergies, she they will have access to a large 

panel  range of products to replace the problematic one. 

 

Indeed, this means an a healthier diet with more diversity and during all of the year. 

Moreover, if a part of the population has allergies, she they will have access to a large 

range of products to replace the problematic one. 
 

Less than ideal sentence structures 

In this essay I will discuss on one side about the positive aspects of this change state 

and on the other side I will focus on the negative points of this development before 

expressing my opinion. 

 

Besides, in some cases, pesticides are used to gain more productivity without 

measuring the consequence on the one hand of the human view  humans and on the  

other hand of the biodiversity of the planet. 
 

overall 5.5-6 You have some reasonable ideas and a good overall structure but there's just too many errors with 

vocabulary and grammar. You need to work hard to reduce errors; try to start with the common errors 

you are making. 

 

Comment [z10]: this is just messy and 

unnecessary 

Comment [z11]: this doesn't fit 

grammatically 
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